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SA - BE - BA(EA) - NRAY - BES Aboy e HIREY
oI MATSE M 482,452 952,452 A470,000
EoHE MRS 482,452 952,452 A470,000
308 AHXIEHA| 482,452 952,452 A470,000
05 RHXI Al 482,452 952,452 A 470,000
Ogadi&d 482,452
Fedty 2d Y 9,528,255 13,383,580 23,855,325
= 13,875
= 8,986,000
L= 528,380
HdSANEZAE Szt 8,986,000 10,051,000 A 1,065,000
& 8,986,000
403 XHXIEHH S 8,986,000 10,051,000 A 1,065,000
= 8,986,000
01 AXIEH A2 E X 8,986,000 10,051,000 A 1,065,000
O&SAl 8,986,000
& 8,986,000
HSANE 2L 410,000 725,000 A 315,000
307 21zZtol ™ 10,000 0 10,000
02 g2tz &t 10,000 0 10,000
OsEd DN 10,000
403 Kt XIEHA 400,000 725,000 A325,000
01 XXl EHX 400,000 725,000 A 325,000
O&SAl LIRS 400,000
HSANE 8 55,000 40,000 15,000
307 21Ztol 50,000 40,000 10,000
02 Sl2tF &8 40,000 30,000 10,000
OFSAE DM 30,000
O&=2=Al sEE22=2Y 10,000
04 BIZtHALE = 10,000 10,000 0
O&SANE 10,000
403 XXX S 5,000 0 5,000
01 AXSHHA2E 5,000 0 5,000
ONSAHHHA 5,000
ANEZISH AT 20,000 12,000 8,000
307 21zZtol ™ 20,000 12,000 8,000
02 QItF &l 20,000 12,000 8,000
OR=AE 3l ZFIHHl K& 20,000
Sotetd & 33 40,380 55,780 215,400
201 et A | 7,700 7,700 0
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SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
01 AL 2r2IHl 7,700 7,700 0
ORWAN 442 7,700
206 T 2| 2,000 2,000 0
01 T2 bl 2,000 2,000 0
OAZTAILE AE2PY 2,000
307 BI2+0| & 8,000 0 8,000
04 DIFHALR 8,000 0 8,000
OAFAHIAHCIA K 8,000
308 Xt XI £HHI S 01 & 22,680 46,080 23,400
01 KHXISHH B A2 ES 22,680 46,080 23,400
OSINZEAN ZLIERY 24 22,680
ENUT AHNESHE 2 16,875 16,800 75
= 13,875
= 3,000
301 YuHB A3 3,000 3,000 0
12 lE R A2 3,000 3,000 0
OZHUE AHNESHE TA22X A
S4 3,000
307 QI2+0| & 13,875 13,800 75
=2 13,875
02 DIAAMRE 13,875 13,800 75
OSHUST AHINESHE 29 13,875
= 13,875
MEIRAH 2483 1,150,000 900,000 250,000
MEIEAR o2 23 470,000 250,000 220,000
307 01240/ & 470,000 50,000 420,000
02 BIAALMBE 470,000 50,000 420,000
OAMBIHZT WEYD 7% 2 AIZ 2N
Z 84 50,000
OMBIEARZER QUAAS XAAHIA 50,000
OBESXE 48 NMH 25 20,000
OMEIHAR SXNSF2(NASe L LUK
S4) 50,000
OR4+ AsIZIIY 84 300,000
MEIHAR WEST 2sat 680,000 650,000 30,000
201 Ypt2 | 50,000 50,000 0
01 AL 2r2lHl 50,000 50,000 0
OMEIHAR S 50,000
306 2013 400,000 400,000 0
NELE] 400,000 400,000 0
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A -3 -H2A(SH) - HEAMY - BES e ‘OH}\_FO” Hos
O=E MIHZHMXNJHH 29 L ALK 400,000
307 2I2+01 M 230,000 200,000 30,000
02 QI F A2 X 230,000 200,000 30,000
OAMSIEZH OotItHI0l 2 100,000
OA2IHZH HAIEHA 30,000
OA2I B ZH &It tHal 50,000
OAMHZH SEEH 50,000
NEH 20,001,869 21,017,335 A 1,015,466
= 14,651,909
& 12,299
[ 5,337,661
DEFLN & L AHE 686,800 399,300 287,500
= 68,150
7 == 618,650
2Z2A=Xs2 23 105,500 48,000 57,500
307 2I2+0I M 55,000 48,000 7,000
05 QIR El = 55,000 48,000 7,000
O2 X=Xz 2 |2 55,000
401 AIEHIL L THHI 50,500 0 50,500
01 Al€HI 50,000 0 50,000
OZZ2 X=X B+ At 50,000
03 Al 2 01| 500 0 500
OZ22X=Rs2 B3 A 20l 500
SAHE & wE K& 581,300 351,300 230,000
= 68,150
< 513,150
307 2I2+01 M 581,300 351,300 230,000
= 68,150
< 513,150
02 QIZtF&E X 221,300 241,300 /20,000
OLsdEa2Y 55,000
OLMRBIEIMIEHY 3843t 136,300
= 68,150
< 68, 150
OLsxg 9 2d22X A& 30,000
04 QIZ2tHALE = 110,000 110,000 0
O2Z XY Al 13,000
OL At3HE stotsSCHE il 7,000
OstEsdLX 251§ 20,000
O AMBE SO A 70,000
05 BIZtRIE S 250,000 0 250,000
OSEET TAYUEEAS MEZF 2Y 250,000
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=g)|=8d 460,000 410,000 50,000
JlsZIIta X 460,000 410,000 50,000
307 21Ztol ™ 460,000 410,000 50,000
02 QItF A8 X 10,000 10,000 0
OEIIs=R3 NISAES 10,000
05 QIZtRIE Z 450,000 400,000 50,000
OJlsdlita XNgod & M= &0t 450,000
2xel & Jlgt 245 18,855,069 20,208,035 A 1,352,966
= 14,583,759
= 12,299
= 4,259,011
FHgEgo=Zet 25 XA 475,000 400,000 75,000
307 21zZtol ™ 475,000 400,000 75,000
04 QIZtHALE = 75,000 50,000 25,000
OFYetetsl Ml N 75,000
05 QIZtRIEZ 400,000 350,000 50,000
Osgd2e eSSl K& 400,000
SEY Jlsegad 2,103,000 2,073,588 29,412
= 1,390,000
L= 713,000
307 2I2toI ™ 700,000 670,588 29,412
= 595,000
L= 105,000
02 QItF A2 X 700,000 670,588 29,412
OXNSXESE Iz 2M (3MAIY) 700,000
= 595,000
& 105,000
308 XXM SOIA 795,000 795,000 0
= 795,000
01 AIXSHHBMNEXES 795,000 795,000 0
ONALEY olziyy 795,000
= 795,000
403 XX SHHS =0l & 608,000 608,000 0
02 B3I 2SO CHEHCH & A I 608,000 608,000 0
OYFEHE 123 FELRelAr 608,000
AT AXAAE 200,000 200,000 0
403 XX SHHEXH=01 & 200,000 200,000 0
02 B3I 2SI CHEHCH & AL I 200,000 200,000 0
O&Y (CE0 500 Z2RE 200,000
OlSH M2I=HS=AY 323,400 323,400 0
= 294,000
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< 29,400

403 XX S HI S K201 & 323,400 323,400 0
= 294,000
< 29,400

02 2| 2SOl CHBHCH & AL B 323,400 323,400 0
O0IBH HSI|ELAIY 323,400
= 294,000
= 29,400

XAl XA ©f & BT ALY 374,000 418,000 244,000
= 333,000
< 41,000

308 XX/ EFHISOI 374,000 418,000 44,000
= 333,000
< 41,000

01 HXSHBAEES 374,000 418,000 /44,000
O=0i8 NAAAX XY= 374,000
= 333,000
= 41,000

NABSH Lxtel At 5,205,370 6,813,400 1,608,030
= 3,832,759
= 1,372,611

101 Q1244 33,600 60,000 26,400
= 16,800
< 16,800

04 JIZH2RISEE S 33,600 60,000 26,400
OXISBESHYRILIALY OIS ALS 33,600
= 16,800
= 16,800

201 YBte | 7,518 45,000 N37,482
= 3,759
= 3,759

01 AtR 22t 7,518 45,000 N37,482
OXIYBEH LXelA & 7,518
= 3,759
< 3,759

202 01 24,000 20,000 4,000
= 12,000
= 12,000

01 =LHo1HI 24,000 20,000 4,000
OXISZEMYRLIAY =2 24,000
= 12,000
= 12,000

206 TH 2 bl 14,400 40,000 25,600
= 7,200
= 7,200

01 HZ 14,400 40,000 25,600
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Chel aXiel HE JIE 1S (el &
SN EHHEA(EA) - MRAY - BES Off Ak oK ggi Hn=S2
OXGZSHLR2IAY HE 2L 14,400
= 7,200
[ 7,200
308 XX SHHISOI & 5,125,852 6,648,400 A1,522,548
2 3,793,000
=3 1,332,852
01 X SHHBAEES 5,125,852 6,648,400 A1,522,548
OXNABSHLEIAY FA 5,125,852
2 3,793,000
-3 1,332,852
ZZ22AY 12,299 12,299 0
£ 12,299
101 @1 21| 12,299 12,299 0
£ 12,299
04 JIZHM2E RS ES 12,299 12,299 0
Ol 2| 11,070
< 11,070
O=88 S JIet 1,229
= 1,229
DE4I|AN 400,000 400,000 0
308 XHXISHAIS 01 & 400,000 400,000 0
01 MHXISHBMEES 400,000 400,000 0
Ong2+Jlg X 400,000
el=I2Z R XNE 80,000 80,000 0
308 XHXIEHAISOI 80,000 80,000 0
01 UXISHHMAANEES 80,000 80,000 0
AZ2Z NN HME 2 30,000
QAI0ZEX MEES XA 40,000
Q=olz22x EHME0Y M 10,000
5|Y0I8 TRME 100,000 0 100,000
= 90,000
[ 10,000
307 BI20I & 100,000 0 100,000
=2 90,000
=S 10,000
02 BIHANEE 100,000 0 100,000
O3|Y0IS ZRME X 100,000
2 90,000
3 10,000
INCE=BII=E= V- 9,582,000 9,102,348 479,652
= 8,644,000
[ 938,000
308 XXl SHHIS Ol & 9,582,000 9,102,348 479,652




A S HE L

M DROLH

el ditel #FE JIg 2

B

B . M. CHe (5 CHEAY A2 oH &EIE H D=2t

= 8,644,000
& 938,000

01 XM ABLEES 9,582,000 9,102,348 479,652

O(UHABIOIS QX2 HEAY X2 (L
el 7,498,000
= 6,975,000
= 523,000
OB AR ROl 2Tfel HEAY TR (e

o) 468,000
= 173,000
& 295,000
O(olgNAISI M1 AP Yl XI& 1,616,000
= 1,496,000
& 120,000

X =28 2 HEsY 936,000 8,922,114 AT,986,114
= 846,000
& 90,000

OIHXIOHE 2 ~=Zotd =g 936,000 8,922,114 AT,986,114
= 846,000
= 90,000

uEX 22 ¥ U= 100,000 92,000 8,000
= 50,000
= 50,000

201 B2 HH| 64,000 64,000 0
= 32,000
= 32,000

01 AR 2teld| 64,000 64,000 0
OlUX 8432 ENS 6,000
= 3,000
& 3,000
OluXE s 2 28 58,000
= 29,000
& 29,000

202 0dl 20,000 20,000 0
= 10,000
= 10,000

01 2LHAHI 5,000 5,000 0
OXZEoHX L= 5,000
= 2,500
= 2,500

03 =AY RAYI 15,000 15,000 0
OXNGUMUHX SE3PH el 15,000
= 7,500
& 7,500

308 X XIEHHI S 0| & 16,000 8,000 8,000
2 8,000
& 8,000
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A WX =28 2 HEsH
S HUXHEY ¥ =303 =8 (&2 &
_ _ _ HEC
SM-BH-H2A(FAH) - MIRAY - BES Ol & oK ‘Oﬂ/l\_FO” Hns2
01 AXSHNBAEEZ 16,000 8,000 8,000
OUUHRX SE32A A= 16,000
= 8,000
T 8,000
uUuXl==Z Jlgt =4 30,000 30,000 0
201 et2F | 5,000 5,000 0
01 AtR2tel bl 5,000 5,000 0
ONACHH=EEB EHI& 4,000
O8RHE SEEAL Ale7 1,000
207 A FRIHEH| 25,000 25,000 0
01 H2EAH| 25,000 25,000 0
OEAIIA S2HE M4EAA 25,000
FAANEME AN 796,000 896,614 A 100,614
= 796,000
403 RAtXI S S X201 & 796,000 896,614 A 100,614
= 796,000
01 HXIEXMA2EE 796,000 896,614 A 100,614
ONBIE JtAAAE HA 796,000
= 796,000
NUHXIAE 20 A2 K2 10,000 0 10,000
201 82| 10,000 0 10,000
01 At22t2|dl 10,000 0 10,000
ONUXNI X320t A852H I=2a 10,000
HYSHAH (LXKl Z Az ) 185,820 174,000 11,820
Jl=3Hl 185,820 174,000 11,820
A 22l Hl 185,820 174,000 11,820
201 B8-23H| 89,000 83,000 6,000
01 At22t2|dl 88,000 82,000 6,000
OZMEHARFX 88,000
02 S32gH| 1,000 1,000 0
03322 ¢ HA S 1,000
202 o4 4l 85,360 79,540 5,820
01 2LHOM HI 85,360 79,540 5,820
OB HEHILRFA 85,360
203 PR FZlH| 11,460 11,460 0
01 J|22H PR =2&H| 6,600 6,600 0
OAl 6,600
04 EN2IHERFAH 4,860 4,860 0
O Xtel ZMA 21 4,860




